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Geometry.  Chapter 9 Test Review.
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image6.tmp
A polygon is reflected in the x-axis and then
reflected in the y-axis. Explain how you can
use arotation to obtain the same result as
this composition of transformations. Draw
an example. A rotation of 180° is the same as





image7.tmp
In rectangle PQRS, one side is twice as long
as the other side. Rectangle P'Q'R’'S’ is the
image of PQRS after a dilation centered at P
with a scale factor of 0.5. The area of P'Q'R'S’
is 32 square inches.

a. Find the lengths of the sides of PQRS.
in. 8in. by 16 in.;
Bxplain. solve the equation 0.5x = 32,
b. Find the ratio of the area of PQRS to the

area of P'Q'R'S". 2
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Which matrix product is equivalent to the

product[3 71][1]? B
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image9.tmp
Which transformation is nof an isometry?
(A> Translation Reflection
(© Rotation (D> Dilation
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The red triangle is the image of the blue
triangle after it is rotated about point P. What
is the value of ? %
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image1.tmp
Use the square window shown below.

a. Draw a sketch showing all the lines of
symmetry in the window design.

b. Does the design have rotational
symmetry? If so, describe the rotations
that map the desien onto itself.
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Two swimmers design a race course near a
beach. The swimmers must move from point
Ato point B. Then they swim from point B to
point C. Finally, they swim from point Cto
point D. Write the component formif the
vectors shown in the diagram, AAE, BC and
TD. Then write the component form of AD.
(9, 6), 8, —6), (7.16): (24,16}
.D(ZA, 16)





image3.tmp
The red square is the image of the blue
square after a single transformation. Describe
three different transformations that could

produce the image. rotation of 180°, a translation,
a reflection in y= —x
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The design below is made of congruent
isosceles trapezoids. Find the measures
of the four interior angles of one of the
trapezoids. Explain your reasoning.

See margi
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The vertices of a triangle are A(0, 2), B(2, 0),
and C(—2, 0). What are the coordinates of the
image of AABCafter the given composition?
Include a graph with your answer.

Dilation: (x, y) — (3x, 3x)
Translation: (x,y) > (x — 2,y — 2)




